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QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘U’ can
be represented by 30, 66, etc., and ‘N’ can be represented by 12, 68, etc.
Similarly, you have to identify the set for the word “TEAR”.

U Qg dhad Uh AR GRT AT AT &, Star @5 fwedt # @
it T A fear mar ) fweut # Rr sw dear-gep IeRT & o a9t
gRT goifT 7w §, Star &6 Bu v o el & §1 negel & wawer 3R
ufeh & dxar 0 @ 4 ¥ 3k g A 5 F 91 3T P F UH 3HER
H Ugel 3HA Ufh IR ag A TAEH FEAT SR GART S WhaT B
3grvr & faw U 30, 66, 3T gRT gfaT S FHar ¥ gAr ‘N A 12,
68, MG ERT GRMAT o ¥dhal ¢l 3 e & IJud ud # QU weg
“TEAR” & T @ @ ugamEar

Matrix-I Matrix-ll

3l eIl
0(1]2|3(4 5|/6(7]|8]|9
O|A|L|[T|Z|E S5[CIM[W|F|P
1|G|D[N]|V]|[C 6| K|U[D|IN|X
2101t | FIP|X 7|R|S[(B|L|V
3|U|Q[K|H|R 8|1G|Q[A|J]|T
4| Y|IW[S|M|J 9|E|O[Y|H|R

Options:
1) 89, 04, 00, 75

2) 89,04, 86, 34
3) 02, 04,01, 75

4) 03, 04, 87, 79
Correct Answer: 89, 04, 00, 75
Candidate Answer: 89, 04, 00, 75

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R At F ¥ 3@ T FeA F AT
Srm & uy amgla Bfa B

X
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Options:

A

2)

3)

4)

X

Correct Answer:

A

Candidate Answer:

QID : 105 -
Which answer figure will complete the pattern in the
question figure?

Fa @ IR 3P uy ey F ulRdwT B @
FHLa?

?
&
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Correct Answer:

Z

Candidate Answer:

A

QID : 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T SUUT A AB [T W I@N AW, ar & T
IR HHAAT A T Pl A Hpfa v apla Hir
T ufafesa gefre

//
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Options:

Correct Answer:
Candidate Answer:

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d F Uy agfadl # @MW WGER FEe @
ASHT S JUT WA & ag I fFH 3R 3pla

s e game
‘wl § \r\_\
j\ ’k’ 00
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Options:
1)

(e]e}
00

2)

4)

Correct Answer:

o O
[e]e}
00

o O

Candidate Answer:

o __©O
(e]e}
00

o O

QID : 108 - What will come in place of question mark (?) in the given equation?

62?22?24?227?39

fau g gefezur & vy g () & WM W o SEr

62?2224?227?39

Options:

1)+, +,—and =

+, +, AUl =

2) +, 4+, xand =

+, 4+, X AUl =

3)x,+,+and =

X, +, + dUl =

4) =, +,—and =

T+, —dUT =

Correct Answer: +, +, X and =
+, 4+, X AU =

Candidate Answer: x, +, + and =
X, £, +dUl =

QID: 109 - If 11 x 13 x 15 = 121416 and 17 x 21 x 24 = 182225,then 5 x 19 x 14 =7

e 11 x 13 x 15 = 121416 AUT17 x 21 x 24 = 18222581, AW 5 x 19 x 14 = ?

Options:
1) 41813
2) 62013
3) 62015
4) 52013
Correct Answer: 62015

Candidate Answer: 62015
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drama
2. Drive
3. Diction
4, Dictate
5. Dwell

fafafed Weal 31 AEHI H 3 aTdl HH & IR |

1. Drama
2. Drive
3. Diction
4. Dictate
5. Dwell

Options:
1) 43125

2) 41325
3) 43152

4) 41352
Correct Answer: 43125
Candidate Answer: 43125

QID : 111 - In the following question,select the missing number from the given alternatives.

2.5, 6,13, 27, 55, ?

fafoRad oy & iU U fawedl & 9 g 8i® 1d Sifon|

2.5,6,13,27,55,?
Options:

1) 111

2) 109

3) 117

4) 119

Correct Answer: 111
Candidate Answer: 111

QID: 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

K, G CY,U,?

T I a7 B, R v ue g 31 U e et # ¥ 95 W) Ao gAw, St 3 B g

K, GGCY,\U,?

Options:

1)P

2)Q

3)R

4)0

Correct Answer: Q

Candidate Answer: [ NOT ANSWERED ]

QID : 113 - In the following question, select the odd word pair from the given alternatives.

FrafoRed uy & fow e fowedt & @ fawd wreg gm &1 gl
Options:

1) Venus : Planet

I - Uz

2) Duck : Bird

g ueft

3) Apple : Red

9 : A

4) Peas : Vegetable

TR : Feoll

Correct Answer: Apple : Red
9 ; T

Candidate Answer: Apple : Red
9 : 14

QID : 114 - In the following question, select the odd number pair from the given alternatives.

Froafoad vy # faw e fasedt & 4 faww e gm &1 gl
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Options:

Ty a6 : 32

2)64: 24

3)26: 14

4) 86 : 48

Correct Answer: 26 : 14

Candidate Answer: [ NOT ANSWERED ]

QID : 115 - In the following question, select the odd letters from the given alternatives.

Frafofaa vy # faw v fosed! & @ fawd sfart &1 gfhu

Options:
1) CBA

2) YWX
3) IHG

4) MLK
Correct Answer: YWX
Candidate Answer: YWX

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Letter, Word, Paragraph

T8 3@ A S i i3 U ol & o &b Fdy o1 FE) T B g
&R, U, ATDG

Options:
1)

OO
O

2

—

w

Y

© 8

Correct Answer:

©

Candidate Answer:
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QID : 117 - In the following question, select the related word pair from the given alternatives.

Mango : Fruit : : Onion : ?

frafafed uy & fou U fawed § ¥ defdd s gm &1 gful
MH:Pd:: TN : ?

Options:

1) Pink

2) Vegetable

GES]

3) Fry

ad-r

4) Root

5SS

Correct Answer: Vegetable

Candidate Answer: Vegetable

QID : 118 - In the following question, select the related number from the given alternatives.

3:27::5:?

Fafafed vy # fau e fJwedl # ¥ Heifa e &1 giul
3:27::5:?

Options:

1) 125

2)50

3) 64

4) 81

Correct Answer: 125

Candidate Answer: 125

QID : 119 - In the following question, select the related letters from the given alternatives.

CAB:FDE::TAP:?

oo uy & fow e fowed & & i sl &) g
CAB:FDE:: TAP:?

Options:

1) WDS

2) WDT

3) VDS

4) VDT
Correct Answer: WDS
Candidate Answer: WDS

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

HIGHLIGHTS

frafafed fawedl § ¥ 98 g gAY o 3T T 2Meg & 1&RT BT TN FXb o ST ol gaball|
HIGHLIGHTS

Options:

1) SLIT

2) HINT

3) HIGH

4) LIST
Correct Answer: HINT
Candidate Answer: HINT

QID : 121 - Ais father of B. B is brother of C. C is sister of E. E is father of D. How is A related to D?

A, BHITUAIRI B, CHIHE BRI C, EPI 587 81 E, D &I a1 81 A, D ¥ i UspR Taifdid 82
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Options:
1) Grandson
iG]

2) Brother
3) Father
foar

4) Grandfather

qlal

Correct Answer: Grandfather
&Il

Candidate Answer: Brother

QID : 122 - The ratio of present ages of A and B is 3 : 4. After 5 years the ratio becomes 7 : 9. What is the present age (in years) of A?

A YT B B GHT 3T 6T 30T 3 : 4 §1 5 IY ULTd IJAB 31T BT U 7 : 9 B ST A B} T 31g (Ist &) 37 82
Options:
1) 30

2) 40
3) 60

4) 75
Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some cups are tables.
I1. Some tables are chairs.

Conclusions:
I. Some chairs are not cups.
II. Some chairs are tables.

F faw T Uy B $T FU IR 3% 918 39 HYI W MR $© Fp feu T E, grifs 3T W 1d a9 e 8 gadt 31 3 ey ug ofR R feffea
B 5 ou U o Q s, 3y MU St & SR W gfaada B

PY: fm%
1. $8 $U B §
IL B A9 HRAT T

ﬁmf-gs@fm e
s o A 81

Options:

1) Only conclusion (I) follows.

Pad ey (1) TE R

2) Only conclusion (II) follows.

Pad ey (1) TE B

3) Both conclusion follow.

T €t s Wt |

4) Neither conclusion (I) nor conclusion (II) follows.
T 0 sy (1) 9 8 Py (1) T 21

Correct Answer: Only conclusion (II) follows.
Paa ey (1) wEl 81

Candidate Answer: Both conclusion follow.

& fred et B
QID : 124 - In a certain code language, "MOBILE" is written as "NQEMQK". How is "CHARGER" written in that code language?

T fafiy #Is U §, "MOBILE" &1 "NQEMQK" e ST § | 39 is HTW H "CHARGER" & f&5d TR forar wmemm?
Options:

1) DIDVLKY

2) DIDWLKY

3) DICVLKZ

4) DICVMLZ
Correct Answer: DIDVLKY
Candidate Answer: DIDVLKY
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QID : 125 - In a certain code language, "TAB" is written as "69" and "DEL" is written as "63". How is "SUB" written in that code language?

T fAfIY S U &, "TAB" &I "69" TUT "DEL" & "63" Rl SiT &1 59 PIs UINT H "SUB™ & g YR foraT Sem?
Options:

1) 42

2) 84

3) 126

4) 123
Correct Answer: 126
Candidate Answer: 126

QID : 126 - What is the value of 12 + 32 + 52 +...... 172?
12+ 32+ 52 4. 172 B A FT 8?2

Options:
1) 969

2) 696
3)917

4) 899
Correct Answer: 969

Candidate Answer: 969

QID : 127 - Which of the following statement (s) is/are true?
I.vV2>3V3
IL. 3V3 > V4

Fafifed & ¥ o1 O $YF 99 §/8?
I.vV2>3V3

1. 3V3 > V4

Options:

1) Only I
Pad I

2) Only II
®ad II

3) Both (I) and (II)
(1) T (I1) S

4) Neither (I) nor (II)
T @) MR D

Correct Answer: Only II

I 11

Candidate Answer: Only II
Haa 11

QID : 128 - How many times the digit 6 appears in the number from 203 to 302?

203 ¥ 302 d% P GBT H 3ieb 6 fHt IR 31T B2
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Options:
1) 18

2)19
3)20

4) 21
Correct Answer: 20

Candidate Answer: 19

QID : 129 - What is the largest three digit perfect cube?

0 sics BT geY o1 guf U9 a1 72

Options:
1) 125

2) 729
3) 100

4) 216
Correct Answer: 729

Candidate Answer: 125

QID : 130 - If A = 23 x 32 and B = 27 x 35, then what is the value of A x B?
gie A=23x32qUB =27 x35 8, d A x B &1 T &7 8?2

Options:
1) 210 37

2) 221 310
3) 2437

4) 210 310
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Correct Answer: 210 37

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - What is the simplified form of 312 x 2730 x 81107
312 x 2730 x 8110 T Wi TH FT §?

Options:
1) 352

2) 3%

3) 3156

4) 3142

Correct Answer: 3142

Candidate Answer: 352

QID : 132 - Three taps A, B and C together can completely fill a tank in 45 minutes. B and C together can fill the same tank in 60 minutes. In how much time (in
minutes) A alone can fill the tank?

'cﬁ?HT%A, B AT C fIdaR U bl Y 45 fire & g ke WR G &1 B quT C T 39 <ol &Y 60 e & R 9dhd §1 A st fram wi (fre &) & ¢t & R
el 87

Options:
1) 120

2) 180
3) 150

4) 240
Correct Answer: 180

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Two taps U and V together can fill a tank in 45 hours, V and W in 60 hours and U and W in 90 hours. If all the three taps are opened, then in how
much time (in hours) the tank will be completely filled?

T8 U TV e U <t I 45 S W 4R Tohd 8, V auT W 60 B T T U quT W 90 B W 4R Tohd T afg T et 1 B e o, ot <t ol 1 WA | e
Tuy (gl o) TN
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Options:
1) 45

2) 48
3) 40

4) 54
Correct Answer: 40

Candidate Answer: 54

QID : 134 - The height of two cylinders are equal and their radius are in the ratio of 1 : 4 respectively. What is the respective ratio of the volume of the two
cylinders?

3 ST P SIS ISR ¢ TUT B! BT HURE: 1 : 4 F U & &1 ST ST P AT BT HHRT: SIS T 32

Options:
1)1:4

2)1:2
3)1:8

4)1:16
Correct Answer: 1 : 16

Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Marked price of an article is Rs 5320 and its selling price is Rs 4256. What is discount percentage?
T I BT 3Hfohd Te 5320 T § IUT SUDT fa5hT Tedl 4256 % ¢ | Be Wad &1 82

Options:
1) 60

2) 40
3) 20

4) 80
Correct Answer: 20

Candidate Answer: [ NOT ANSWERED ]
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QID : 136 - Three successive discounts of 25%), 20% and 25% are given. What will be the net discount (in percentage)?
25%, 20% TUT 25% B A Hif® ge & ot 81 Faa (e) Be (vfawra o) 71 gnf

Options:
1) 62.5

2) 55
3) 65
4)67.5

Correct Answer: 55

Candidate Answer: 67.5

QID : 137 - The ratio of ages of U and V 17 years ago was 2 : 1. The ratio of their age 8 years hence will be 11 : 8. What will be the sum (in years) of their present
ages?

U ATV Y 3R T SUT 17 16T U8 2 : 1 UTI ITeb! 311 T SUTA 8 WA S5 11 : 8 B ST | ST IeH 31T BT INT (st H) fran gme

Options:
1) 45

2) 79
3)95

4) 63
Correct Answer: 79

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - The income of Rahul and Vijay are in the ratio 5 : 3 and their expenditures are in the ratio 2 : 1. If each saves Rs 30,000, then what will the sum of
their incomes?

TG T fISTT BT ST BT SUTA 5 : 3§ TUT 7 W BT UM 2 ¢ 1 71 I UASF 30,000 T B F9d FAT 3, A ST 4TI HT AT (3 H) foben g
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Options:
1) 1,80,000

2) 210000
3) 240000

4) 1,90,000
Correct Answer: 240000

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - What is the average of first 15 natural numbers?
Ugl 15 Wipfae Tl &1 efid o 82

Options:
1) 10

2)7
3)9

4)8
Correct Answer: 8

Candidate Answer: 8

QID : 140 - The cost price of an article is Rs 110. If it is sold for Rs 99, then what is the loss percentage?
TUH 9% $T 6T Ged 110 T B 3 39 99 ¥ | 1 ofralm g, < g1 wiferwrar w82

Options:
1) 11

2) 12
3) 15
4) 10

Correct Answer: 10
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Candidate Answer: 10

QID : 141 - Cost price of a book is Rs 200. What should be the selling price (in Rs) of the book to gain 20% profit?
TP P BT T T 200 T T 20% ATH U B & 1T [ede BT faehd Hed (3 H) 1 g1 anfeu?

Options:
1) 220

2) 240
3) 230

4) 260
Correct Answer: 240

Candidate Answer: 240

QID : 142 - A 1200 grams of sugar solution contains 50% sugar. How much sugar (in grams) must be added so that the new solution contains 60% sugar?
1200 91 = & B T 50% i B fpat D @ ) e e U ia J 60% i 8 s

Options:
1) 240

2) 350
3) 300

4) 400
Correct Answer: 300

Candidate Answer: 240

QID : 143 - The population of a town increase by 15% every year. If the present population of the town is 82800, then what was the population of the town last
year?

it TreR Bt S Ufaay 15% ¥ Sedl 31 9 Xex B adH SIEeT 82800 B, Y s af e @ seien o A

Download More Paperé’From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:
1) 72000

2) 76000
3) 72500

4) 78000
Correct Answer: 72000

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - A train crosses a platform in 30 seconds travelling with a speed of 90 km/h. If the length of the train be 250 metres, then what will be the length (in
metres) of the platform?

T YIS 90 3.t /der Y I ¥ Ied gU U Wewid B 30 AHUS B UR FHR Al 81 TS YS! B s 250 Hiex awelt g, A Weh i 3 arers (Hiex H) a1 ghie

Options:
1) 450

2) 500
3) 360

4) 600
Correct Answer: 500

Candidate Answer: 360

QID : 145 - Speed of a boat is 12 km/hr in still water and the speed of the stream is 3 km/hr. If the boat takes 8 hours to go to a place and come back, then what
is the distance (in km) of the place?

i o B 19 B I 12 .7t /eer § qur ary @ aifa 3 . /eier B1 afe e 8 v # fonf gt o SR Ao o St €, o & (Fpa. ) fapat B2

Options:
1) 36

2) 45
3) 60
4) 90
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Correct Answer: 45

Candidate Answer: 60

QID : 146 - A sum of Rs 10000 is invested at a scheme of compound interest. The interest rate is 10%. If the interest is compounded half yearly, then what will be
the interest (in Rs) after 1 year?

10000 T B Ueh A1 BT Tshgfeg SIS Bt Ao B AT 3T 77| SIS 2R 10% 7| T SIS BT YA S aniep g1, o U a9 §1g =1 (3 o) fbe ghme

Options:
1) 1025

2) 1000
3) 1200

4) 1375
Correct Answer: 1025

Candidate Answer: 1375

QID: 147 -
The table below shows the cost of four cars in 5
different towns.

aer & 78 Tt # 5 Rffew et A = st
& [T B AT AT E

Cirl Cost of cars in towns (in Rs 000) /
L8 faf¥e It 3 afzat & F=7 (000 F )
' T T2 T3 T4 T5
C1 | 924 918 | 936 998 879
c2 | 314 325 | 318 341 307
C3 | 465 385 | 432 458 412
C4 | 238 288 | 212 199 247

What is the difference (in Rs) between the highest cost of C1 and the lowest cost of C3?

C1 % ARIHaH Hed TUT C3 b T Ged § fber ik (T H) 82
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Options:
1) 724000

2) 575000
3) 599000

4) 613000
Correct Answer: 613000

Candidate Answer: 613000

QID: 148 -
The table below shows the cost of four cars in 5
different towns.

= & 78 Tl # 5 Rffew ot A = wfzat
& eI P AT IAT ¥

St Cost of cars in towns (in Rs 000) /
oB ¥ Rt 3 nfEat &1 =000 T )
' T T2 T3 T4 T5
C1 | 924 918 | 936 998 879
c2 | 314 325 | 318 341 307
C3 | 465 385 | 432 458 412
C4 | 238 288 | 212 199 247

What is the average cost (in Rs) of C2?
C2 &7 3ia- g (3 o) T 82

Options:
1) 327000

2) 321000
3) 336000

4) 319000
Correct Answer: 321000

Candidate Answer: 321000
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The table below shows the cost of four cars in 5
different towns.

A= & 7 e # 5 e et # =aw mfat
& FeT P AT T4 E

St Cost of cars in towns (in Rs 000) /
L e at 3 wfzal & 7= (000 7 )
' T T2 T3 T4 T5
C1 924 918 936 998 879
Cc2 314 325 318 341 307
C3 465 385 432 458 412
C4 238 288 212 199 247

If a person wishes to buy 1 car of each type in T3, then what will be the total cost (in Rs) he has to pay?
e U afa B A BT 1 TME T3 W TRISHT 16l 7, d ITH! a1 oo Ied (3 H) 31 UM

Options:
1) 1898000

2) 2164000
3) 2054000

4) 1962000
Correct Answer: 1898000

Candidate Answer: 1898000

QID : 150 -
The table below shows the cost of four cars in 5
different towns.

A= & 72 T # 5 e et # Iw mfat
& eI P TT IAT ¥

car/ Cost of cars in towns (in Rs 000) /
e ¥ Rt 3 At &1 F=w (000 3 )
' T T2 T3 T4 T5
C1 924 918 936 998 879
Cc2 314 325 318 341 307
C3 465 385 432 458 412
C4 238 288 212 199 247

What is the ratio of total cost of 1 unit all the cars in T2 and the total cost of 1 unit of all the cars in T4?

T2 & Tft miS B 1 TP F A geu a1 T4 H W ST B 1 5B B $A Ued BT U 7T 72
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Options:
1) 479 : 499

2) 521 : 509

3) 601 : 668

4) None of these
TIPS T

Correct Answer: 479 : 499

Candidate Answer: None of these
T I IS TS
QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate

option. If a sentence is free from error, select 'No Error'.

What a better way (1)/ of taking care than (2)/ ensure good health. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: 2

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It is a very paining experience (1)/ both for the one who (2)/ and for them who are the victims. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: 3

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

There are only ten teachers the staff of this school.

Options:
1)on

2) at
3) as

4) under
Correct Answer: as
Candidate Answer: under

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Geeta that she could speak four languages.
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Options:

1) boasted
2) suggested
3) roasted
4) submitted

Correct Answer: boasted
Candidate Answer: boasted

QID : 155 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Retreat

Options:

1) Advance
2) Coming
3) Withdrawl
4) Arrival

Correct Answer: Withdrawl
Candidate Answer: Withdrawl

QID : 156 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.
Timid

Options:
1) Coward

2) Brave
3) Bold

4) Fearless
Correct Answer: Coward
Candidate Answer: Coward

QID : 157 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Convict

Options:
1) Victim

2) Free
3) Culprit

4) Independent
Correct Answer: Culprit
Candidate Answer: Culprit

QID : 158 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Sluggish

Options:
1) Inert

2) Heavy
3) Slow

4) Alert
Correct Answer: Alert
Candidate Answer: Alert

QID : 159 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.
Crafty

Options:

1) Sharp

2) Smart

3) Artful

4) Unskilled
Correct Answer: Unskilled
Candidate Answer: Unskilled
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QID : 160 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Covert

Options:
1) Public

2) Hidden
3) Private

4) Concealed
Correct Answer: Public
Candidate Answer: Public

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Jaundiced eye

Options:

1) A criminal

2) A prejudiced view
3) To be stupid

4) An experienced man

Correct Answer: A prejudiced view
Candidate Answer: A criminal

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Kill two birds with one stone

Options:
1) To take revenge from two enemies

2) To serve two purposes at one time
3) To be happy and unhappy at one time

4) To maximize the profit
Correct Answer: To serve two purposes at one time
Candidate Answer: To serve two purposes at one time

QID : 163 - Improve the bracketed part of the sentence.

A fool and his money are (soon parted).

Options:
1) departed

2) aparted
3) retarted

4) No improvement
Correct Answer: No improvement
Candidate Answer: departed

QID : 164 - Improve the bracketed part of the sentence.

(Jaya, you and I) shall go for a movie together.

Options:
1) I, you and Jaya

2) You, Jaya and I
3) You, I and Jaya

4) No improvement
Correct Answer: You, Jaya and I
Candidate Answer: I, you and Jaya

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Science of blood
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Options:
1) Ornitology

2) Climatology
3) Etiology

4) Haematology
Correct Answer: Haematology
Candidate Answer: Haematology

QID : 166 - I In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Science dealing with heredity

Options:
1) Gastronomy

2) Aviation
3) Genetics

4) Kalology
Correct Answer: Genetics
Candidate Answer: Gastronomy

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Esential

2) Essential
3) Assential

4) Essenshal
Correct Answer: Essential
Candidate Answer: Essential

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Headache

2) Headeche
3) Headaech

4) Headaceh
Correct Answer: Headache
Candidate Answer: Headeche

QID : 169 - Rearrange the parts of the sentence in correct order.
God will
P: to help ourselves

Q: help us if
R: we are prepared

Options:
1) QRP

2) RQP
3) PQR

4) RPQ
Correct Answer: QRP
Candidate Answer: QRP

QID : 170 - Rearrange the parts of the sentence in correct order.

The cooperative system

P: a good way of encouraging
Q: of doing business is

R: ordinary workers to work hard
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2) PQP
3) PQR
4) RPQ
Correct Answer: QPR
Candidate Answer: PQR

QID: 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

A new comer baby positive

Options:
1) asks for

2) demands for
3) aspires

4) requires
Correct Answer: requires
Candidate Answer: requires

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

for his/her development

Options:
1) overall

2) meager
3) great

4) awesome
Correct Answer: overall
Candidate Answer: overall

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

relationships help in good habits,

Options:

1) manipulating
2) ignoring
3) promoting

4) hiding
Correct Answer: promoting
Candidate Answer: promoting

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

A healthy family
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Options:
1) was

2) were
3) can

4)is
Correct Answer: is
Candidate Answer: is

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

of especially child

Options:

1) each one

2) everyone

3) one another

4) each other
Correct Answer: everyone
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - Money value of all the goods and services produced in a country in a year is called as

T Y ¥ fpelt 3w & Sanfed @t g ok Jareit b e e Y ol oI B
Options:
1) National income
3
2) Net value
P HA
3) Gross profit
bl Y
4) Profit
GIEH
Correct Answer: National income
X g g 319
Candidate Answer: National income
By g g 3

QID : 177 - While calculating GDP which among the following is not included?

Sit. S, ot & geaied ® Fafafed § 9 fod S=afd 751 fean smare
Options:

1) Final goods

Sifed a¥g

2) Final services

3) Intermediate goods

et a%g
4) None of these

T A BIS T

Correct Answer: Intermediate goods
eafie avg

Candidate Answer: Intermediate goods

et avg

QID : 178 - How many fundamental rights does Part III of India constitution guarantees India citizens?

R GfIUM &1 YA &9 YRl TR @) fba A iR gRfdd oar 82
Options:
1) One

%
2) Two

3) Six

CH

4) Ten

<

Correct Answer: Six
CH
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Candidate Answer: Six
CH

QID : 179 - Which article of Indian Constitution states that untouchability has been abolished?

R TR & 54 oifwe & SIER SRYLIAT BT IHH (a1 o IH 82

Options:
1) Article 15
3THG 15
2) Article 16
16
3) Article 17
TG 17
4) Article 18
3T=T 18
Correct Answer: Article 17
TG 17
Candidate Answer: Article 17
313333 17

QID : 180 - Who was the founder of Rashtrakuta dynasty?

IFHT I BT TRIGF DI U
Options:
1) Harshvardhan

o

2) Dantidurga

3) Kadumba

Dl
4) Chandra Gupta-I

I&[d-1

Correct Answer: Dantidurga

andidate Answer: Dantidurga

QID : 181 - In which year Bengal was partitioned?

o aof A s @1 fyureH R foar mar ure
Options:
1) 1900

2) 1905
3) 1895

4) 1890
Correct Answer: 1905
Candidate Answer: 1905

QID : 182 - What is the position of Saturn from the Sun among the eight planets?

316 781 H o T Q o9 O H R T 82
Options:

1) First

ggar

2) Second

T
3) Third
GIGR

4) sixth

BT

Correct Answer: sixth
B

Candidate Answer: sixth
EX)

QID : 183 - 237> degrees north latitude marks what?

23, ST IAL =T T SR 52
Options:
1) Tropic of Cancer

2) Tropic of Capricorn
TR Xl

3) Arctic Circle

IR Yd (3MHeF) g
4) Antarctic. Circle
ST ya (sferfésw) aa
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Correct Answer: Tropic of Cancer

Candidate Answer: Tropic of Cancer

Hb 3@l

QID : 184 - Which among the following is the prominent part of an flower?

i & 3 $ A gL I &1 Ueb @ YT e 82
Options:
]:) Peteils

2) Sepals
STRTcel
3) Stamens

4) Pistil
Correct Answer: Petals

(;andiqate Answer: Petals

QID : 185 - Vitamin needed for blood coagulation is

T Whed & U smawas gl
Options:
1) Vitamin B

2) Vitamin A
[CEUEERY
3) Vitamin K
fqeftm &
4) Vitamin C
[CEIEER]

Correct Answer: Vitamin K

Candidate Answer: Vitamin K

QID : 186 - Longest bone of huamn body is .

Ha TRR B T de g gl
Options:
1) humerus

By
2) stapes
T

3) femur

4) Radio-ulna
& s
Correct Answer: femur

Candidate Answer: femur

QID : 187 - Select the odd pair.
T SEt &1 99 1|

Options:

1) Muscular force — Contact force

U=fg 99 - g §d

2) Electrostatic force — Non contact force

3) Friction — Non contact force

4) Gravitational force — Non contact force

Correct Answer: Friction — Non contact force

Candidate Answer: Gravitational force — Non contact force

QID : 188 - Energy possessed by a body due to its motion is .
3T T % PR T fUS gRT SwfRd et FHEam gl
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Options:
1) Kinetic energy
TSt St

2) chemical energy
3) Potential energy
fufar Faf

4) None of the;e

Correct Answer: Kinetic energy

TIfat it

Candidate Answer: Kinetic energy

TRt ot

QID : 189 - Which was the first web based e-mail service?

Ugat 39 3enia 3-8 a1 i 4 e
Options:

1) Rediffmail

REE2E)

2) Yahoo mail
a8 7

3) Hotmail

4) Gmail

Correct Answer: Hotmail

Candidate Answer: Hotmail

QID : 190 - Aluminum is extracted from

Tegitgs o1 ey BRG]
Options:
1) hematite

2) bauxite
EIESIES
3) calamine

4) cinnabar

Correct Answer: bauxite
CIGEIES

Candidate Answer: bauxite
EICHSIE

QID : 191 - Which of the following is a good conductor of electricity?
fufofad & ¥ H19-1 te faged garas &2

Options:

1) Charcoal

IRDIA

2) Wood

ksl

3) Graphite

PLIE

4) Diamond

Correct Answer: Graphite

Candidate Answer: Graphite

QID : 192 - Which among the following is not a greenhouse gas?

frafafed & 3 o e shape o g 2
Options:

1) Carbon qlioxide

PIa SRATHES

2) Methane
AT

3) Oxygen
FIENIGE]

4) Nitrous oxide
BIESRSICSIES)
Correct Answer: Oxygen
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Candidate Answer: Oxygen

QID : 193 - Which is an online library for persons with visual disabilities?

DI A1 =T e dl & N T Siiars e 87
Options:

1) Sugamya Pathshala

IR UTSRTedT

2) Sugamya Pustakalaya

3) e- Pustakalaya

4) e- Pathshala
S-uTeRTA
Correct Answer: Sugamya Pustakalaya

LT QRAD I
Candidate Answer: [ NOT ANSWERED ]

QID : 194 - Who invented Razor?

IR BT NIBRS DI 52
Options:

1) King C. Gillette

fo <, forele

2) Henri Giffard

T e

3) Karl Benz

FTd o

4) William Harvey
faferam g

Correct Answer: King C. Gillette

fam <. foraie

Candidate Answer: King C. Gillette
fo <, forele

QID : 195 - 'Raider' is associated with which sport?

Y frg Ba A o1 82
Options:

1) Cricket

fobhe

22 Hockey
el
3) Kabaddi

4) Football
Padld

)

Correct Answer: Kabaddi

Candidate Answer: Kabaddi

QID : 196 - Aipan is a traditional folk art of which state?

TUH 59 79 &1 IRURS AP Hell 82
Options:

1) Madhya Pradesh

T USx

2) Andhra Pradesh

e UG

3) Tamil Nadu

4) Uttarakhand

Correct Answer: Uttarakhand
JRIGTS

Candidate Answer: Tamil Nadu

QID : 197 - Who is the recipient of the 2017 Dronacharya Award for Wrestling?

Fh & U 2017 KUTEH REBR & Ut B 82
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Options:

1) Mahavir Singh Phogat
HeaR Rig B

2) Roshan Lal

A A

3) Dara Singh

IR Rig

4) None of these

Correct Answer: Roshan Lal

REEESIN

Candidate Answer: None of these

EREREZER ]

QID : 198 - Who is the author of book named "Ben Hur : A tale of the Christ"?

S BR: 3 2 31 g fohe” TS JW® & RId DI 82
Options:

1) John Dean

BRI

2) Levwis Wallace

3) Alan Patan

& GIERCRE]

4) Thomas Moore

YA R

Correct Answer: Lewis Wallace

Candidate Answer: [ NOT ANSWERED ]

QID : 199 - Which was the operation by India to evaluate Indian Citizens stranded in South Sudan's capital Juba?

UYRA gRI ol Y™ & It Fa § By YR g AT Bl fHeter & forg B9 a1 SHToR=e ur?
Options:

1) Operation Megh Prahar

SHTORTA Y UER

2) Operation Sankat Mochan

SHTORRM Hdhe T

3) Operation Indra

TR g&T

4) Operation Sampriti

SHTORR B

Correct Answer: Operation Sankat Mochan
Tobe
Candidate Answer: Operation Sankat Mochan

SRR dehe HraA
QID : 200 - The 250 km Tamu-Kalewa-Kalemyo highway is popularly called Friendship Road.

250 fo5. 10, T A-Haa-HAR T ABIOIA 4 ol Ues Feand 32
Options:

;) Indo-Nepalese

2) Indo-Myanmar

3) Indo-Bhutan

g4

4) Indo-China

ESIECIE]

Correct Answer: Indo-Myanmar

Candidate Answer: Indo-Myanmar
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